
Best buys!











EXAMPLES
(a) A supermarket sells two different-sized packets of Whito soap powder. The 

medium size contains 800 g and costs £1.60 and the large size contains 2.5 kg 

and costs £4.75. Which is the better buy?

BEST BUY PROBLEMS

£0.002

800g   =  £1.60   
÷800 ÷800

÷2500 £4.752500g  =    
MEDIUM LARGE

1g    =    1g    =    
÷2500

£0.0019

Therefore, the large pack is the better buy.



(b) Which of these boxes is better value?

5 POTS6 POTS

6 pots   =  £1.45   5 pots   =  £1.20   

30 pots    =    30 pots    =    

x 5x 5 x 6x 6

£7.25 £7.20

Therefore, the box of 5 pots is better 

value for money.



Traffic light your work today.

Thumbs down- I don’t understand it

Thumbs across- I understand some of it

Thumbs up- I understand all of it



A further task will be on the website for you to 
complete later today – one merit for all who do 



